A 2

THEEERERAKREEZERIIR T (EEDERRRUELEME)RERA
% A (1)
# B FHEEEAN) | REHEB) [ AW—B B BH
1 ZRIA 207,033,000( 56,835,359 150,197,641
@E@%@‘%#&@N I A 7,300,000(  6,235064| 1,064,936
HERR =5 RN A 4,500,000( 3,967,739 532,261
&'H‘H%ﬁ%%gg FRREg A | 176822000| 28249577 148572423
TOHD S RENIT A 240,000 44,753 195,247
—EHEHEEFINA 7,400,000( 6,585,820 814,180
T FREMURA 0 0 0
Z DB EIRA 10,771,000| 11,752406| A 981,406|7 77 < EIES
2 FERAMRUFHH 331,000 226,900 104,100 < EH
3 BAR 9981000 9927274 53,726 222,%’?2"5@%% 172‘;’(7)232
4 BEe 0 0 0
5 FEIRA 87,000 46,894 40,106
EEHF 1,000 0 1,000
# A 86,000 46,894 30, 106| ERMBATILRES
w A8t 217,432,000| 67,036,427 150,395,573




% (Bfz:A)
7l =] FTEIFZE(A) | REZEB) (A)—(B) & 3]
1 B%E 48,604,000 47,265,450 1,338,550
BEAHGE 40,457,483
—REEE 48,532,000 47,193,450 1,338,550 — iR & E 3,952,438
SEHEETRABAEAGE 2,783,529
EESEEE 72,000 72,000 0
2 BxE 33,368,000 24,944,241 8,423,759
Y == P o = I+ N
E@% an 1,956,000 1,866,612 89,388 EERFRREXERLY
E&EH
Ko 84,000 71,520 12,480
HERME
EEMm EELE
2R 30,000,000 22,220,210 7,779,790
BEMBE
= =T
EXEE 1,328,000 785,899 542,101 ERARIRE RN F
3 NMEE 2038,000] 1977.274 60,706 T RICE RS - TR F
4 Fir&E 0 0 0
5 RIEERLTRE 133,422,000 133,421,900 100
m A E 217,432,000 207,608,865 9,823,135
mAE EANELS = 5l
2%k L= % < SHE TS oo KN S 5
BB EREE 67.036.427| 207.608.865| A 140,572,438 T =7 LIT-OBE R AR L7 F140,573,000M




